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. Compute the limit and use the e-§ def-
inition of limit to prove your answer is
correct. lir% (42 + 32 — 9)

Tr—

. Compute the limit and use the e-§ def-
inition of limit to prove your answer is
correct. 1ir%(x3 —22° + 3z — 5)

Tr—

. Compute the limit and use the e-¢ def-

inition of limit to prove your answer is

correct. 1im1(x5 — 2t — 22% + 42 - 3)
T——

. Compute the limit and use the e-§ def-

inition of limit to prove your answer is

correct. lim x sin —
x—0 x
. Compute the limit and use the e-§ def-

inition of limit to prove your answer is
. 22 —4

correct. 9151_% 39

. Compute the limit and use the e-d def-

inition of limit to prove your answer is

correct. }ti—%(t? +3t+a) (ais a constant)

. Compute the limit and use the e-¢ def-
inition of limit to prove your answer is

oo dxr—1
correct. lim
=2 ¢ —1

. Compute the limit and use the e-d def-
inition of limit to prove your answer is
i 2> —6
im
t—-33x — 7

correct.

. Compute the limit and use the e-¢ def-
inition of limit to prove your answer is

im ——
t—>—% t+ 1

correct.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Compute the limit and use the e-§ def-
inition of limit to prove your answer is
.yt =3y +2
correct. lim ———
y—13y? — 4y + 1
Compute the limit and use the €0 def-

inition of limit to prove your answer is
correct. lin% (p* + 3p?)
p—)

Compute the limit and use the e-§ def-
inition of limit to prove your answer is

.or+3
correct. lim

r—57r —

Compute the limit and use the e-d def-
inition of limit to prove your answer is

correct. lin% vz + 10

Compute the limit and use the €0 def-
inition of limit to prove your answer is
lim ——
t——1 Y 17+t
Compute the limit and use the e-§ def-
inition of limit to prove your answer is

R |
correct. lim

24 \/z + 5

Compute the limit and use the e-§ def-
inition of limit to prove your answer is
2?2+ 1

Jx
Compute the limit and use the €0 def-

inition of limit to prove your answer is
correct. lim xsinx
z—0

correct.

correct. lim

:E—)l

Compute the limit and use the e-§ def-

inition of limit to prove your answer is

correct. lim (ma + b) where m and b are
Tr—
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19.

20.

21.

22.

23.

24.

constants. (Be sure to take care of all
possible cases.)

Compute the limit and use the e-§ def-

inition of limit to prove your answer is

correct. lirri (az® +bx + c) where a, b and
r—

¢ are constants. (Be sure to take care of
all possible cases.)

Compute the limit and use the e-§ def-
inition of limit to prove your answer is

correct. il_)rr% % where a is a constant.
Compute the limit and use the €0 def-
inition of limit to prove your answer is
correct. lim(2* + 3z + 7) where a is a
constant.

Compute the limit and use the e-§ def-
inition of limit to prove your answer is
correct. éirr&(tan(@) +2)

Prove that if limy f(z) = 3, then
hrr%(élf(x)) = 12.
Prove that if lirr% f(z) = 3 and

lim g() = 2, then lim(f(x) +g(x)) =



